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If he can extract it — b 91> AN

OVERVIEW

X701 27 rules that if a man gave a Vi to his wife and there was a thread
attached to the v, which the husband held on to after giving the 3 to his
wife, she is nwMn only if the thread is not sufficiently strong that he can
grab the v away from her, however if he can grab it away from her, she is
not NwM for it is not NMN>13; since they are still bound together by this
thread (as the X3 concludes). It would seem that when the husband placed
the v3 into her hand, her hand was open, and afterwards she closed it and
depending on the strength of the string the husband can or cannot retrieve
the v3. Our MdOIN rejects this interpretation.

— DY V) 1MV NYYA NNIND N NNN ONT AN
It is the view of m»oin that if her hand was open when he placed the v

into her hand -
— PN DT NNAPIY YT NNXYWNN NINYD

And the thread remained in his hand, and she closed her hand tightly -
— HYNN DRV IYEN IN®ANY 9919 XY NNUNN TYIN ONY

So that if he will pull the thread he will not be able to bring it towards

him; she is not divorced. m»oin explains why she is not divorced -
— Y98N INYANY 9199 79D DT NNDPY DY NP 1MV S9NY

Because when he placed it in her hand before she closed her hand, he

was able to bring it back towards him (and therefore at that moment she was not

nwanng) -
— NN NONX NI NYY XY NYapn)

And she did the closing of the hand (which allowed us to consider the v
17°2); not he -

— 21953 1:93) 153 1359 N9T DY NONT '¥D9D 933 Hum JV) S50 MM
Therefore it is similar to the case of ‘take your v from upon the ground’
where the rule is that she is not divorced, for we cannot read into this

divorce the requirement of ;772 Jn1Y (and he should place it in her hand),
since she took it from the ground.

" The husband placed the v on the ground and told his wife that she should take it.

? We derive from 7772 101 that the husband is required to give the 3 to his wife, but not that she should take
the v (and therefore by vpp 3"y Ju°a *Hu where she is taking the v3 she is not nw1»). Similarly here by
the thread since the reason she becomes nw7in is because she closed her hand and the husband can no
longer retrieve it, therefore she is considered as being active in acquiring the v3, rather than being passive.
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The question arises, since in the case where she closed her hand after he placed the va
there, she is not nw7a (even if 1PNI2 712° PR), then what is the case of X701 27 who rules
that if 1pn1% 215° PX she is nw7». So Moo explains:

— NIYINNT IVIN INANY 5199 93N ON 9INPT NN

And here in our X723 where X707 21 rules that 2R IN32:72 912° 13X 28 she

is N1, we are discussing a case -
— PN 95 D5 N ANN XYM AP N NNPAY NS

For instance where her hand was clasped closed and he stuck it in her

hand so tightly -
— Y98N VN NY2> KDY INYYND IV ONVY

That even if he would pull the thread he will not be able to bring the w3
back to him. This is considered 77°2 1011 since she did nothing; only he.

mooin offers an alternate explanation:
— 45 95 135 03N BN W% (*313) DN 13539

And the n''1 (also) explained it (in a different manner, that) if the v3 is so

heavy -
— DY INYNN PNIN PN VIN TIVNRY N¥YY ONY

That if he wishes to pull the vx towards him the thread will snap, she is

divorced -
1927 DIV NHYY N nNap NYY ANINS N7 Y9999

And we are discussing a case where her hand is open (the entire time)
and she did not close her hand or do anything.

SUMMARY

The rule of 1pn1% 197 1K is nwTan is only when he stuffed it into her closed
hand, or her hand remains open but N1 212> X on account of the
heaviness of the v}; however if he cannot retrieve it because she closed her
hand, then she is not W72 because it is a case of ¥pap 3"vn T “Hv.

THINKING IT OVER
How can we possibly differentiate between vpap 3"vin 0 v (where it is
™% 9109) and the case where she closed her hand after receiving the v3?"

3 See 0"n who deletes the word "n1', since the N ws is different from wy'® Mmooin. The a'"w p"nan
retains the word °»1 and explains that the n"1 also agrees with n1vo1n that we cannot be discussing a case
where she closed her hand after he placed the v3 there for it would be a case of ¥pap 2"y 03 9.

* See D*w7nA X"2077 w170 and 25 MK 7"910.
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